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Reasoning Mega Quiz for RRB NTPC 

 

Directions (1-2): In the following questions complete the number series : 

निम्ननिनित प्रश्नों में सखं्या श्रंििा को परूा करें: 

 
Q1. 17, 19, 23, 29, ____ 
(a) 33  
(b) 31 
(c) 34  
(d) 36 
 
Q2. 204, 100, 48, 22, ___ 
(a) 10  
(b) 9 
(c) 13  
(d) 7 
 
Directions (3-4): In each of the following questions, select the missing number from the given 
responses. 

निम्ननिनित प्रत्यके प्रश्नों में, दिए गए निकल्पों में स ेिरप्त सखं्या का चयि करें| 

 
Q3. 

 
(a) 8  
(b) 3 
(c) 6  
(d) 36 
 
Q4.  

 
(a) 60  
(b) 68 
(c) 55  
(d) 65 
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Q5.  

  
(a) 4  

(b) 7 

(c) 6  

(d) 5 

 

Q6. Ramesh was born on 4th October 1999. Dinesh was born 6 days before Ramesh. The 

Independence Day of that year fell on Sunday. Which day was Dinesh born? 

रमशे का जन्म 4 अक्टूबर, 1999 को हुआ था. दििशे का जन्म, रमशे के जन्म स े6 दिि पूिव हुआ था. उस िर्व स्िततं्रता दििस 

रनििार को था. दििशे का जन्म दकस दिि हुआ था?  

(a) Tuesday/ मंगििार  

(b) Wednesday/ बरधिार 

(c) Monday/ सोमिार  

(d) Sunday/ रनििार 

 

Q7. Five boys A, B, C, D, E are sitting in a circle facing inside. A is facing South-West, D is facing 

South-East, B and E are right opposite A and D respectively and C is neighbor of both D and B. 

Which direction is C facing? 

पाचं िड़के A, B, C, D, E एक ितृ्त में कें द्र की ओर मरि कर के बठेै हैं. A का मरि िनिण-पनिम की तरफ है, D का िनिण–पिूव 

की तरफ ह,ै B और E क्रमशः A और D के ठीक निपरीत बैठे हैं और C, D और B िोिों का पडोसी ह.ै C दकस दिशा की ओर 

उन्मरि है? 

(a) West/ पनिम  

(b) South/ िनिण 

(c) North/ उत्तर  

(d) East/ पूिव 

 

Q8. Which one-set of letters when sequentially placed at the gaps in the given letter series shall 

complete it? 

__cb__cab__baca__cba__ab 

निम्ननिनित िणव समरचय में स ेकौि सा सम्मरच ररक्त स्थािों में रिि ेस ेिी गई िणव श्रिंिा को परूा करेगा?  

__cb__cab__baca__cba__ab 

(a) cabcb  

(b) abccb 

(c) bacbc  

(d) bcaba 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/


3 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 

Q9. Arrange the following words as per order in the dictionary. 

निम्ननिनित शब्िों को अगं्रजेी शब्िकोश के अिरसार व्यिनस्थत करें| 

1. Dissident  

2. Dissolve 

3. Dissent  

4. Dissolute  

5. Dissolution 

(a) 3, 1, 4, 5, 2  

(b) 3, 2, 1, 4, 5 

(c) 3, 1, 4, 2, 5  

(d) 3, 2, 4, 5, 1 

 

Q10. Find the number of triangle in the given figure. 

दिए गए नचत्र में नत्रभरजों की सखं्या ज्ञात करें|  

 
(a) 27  

(b) 25 

(c) 28  

(d) 26 

 

Q11. A piece of paper is folded and cut as shown below in the question figures. From the given 

answer figures, indicate how it will appear when opened. 

एक कागज को मोड़कर काटा गया जसैा की प्रश्न आकृनत में िशावया गया है| िी हुई उत्तर आकृनतयों में स ेउस आकृनत को चरिें जो 

इंनगत करे की कागज़ िोिि ेपर कैसा दििगेा|  

 
(a) a 

(b) b 

(c) c 

(d) d 
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Directions (12-15): In each of the following questions select the related letters/word/number 
from the given alternatives. 

निम्ननिनित प्रत्यके प्रश्न में, दिए गए निकल्पों में स ेसम्बनंधत अिर /शब्ि /सखं्या का चयि करें| 

 

Q12. CFIL : ORUX : : DGJM : ? 
(a) PSVY  

(b) NQST 
(c) HJLN  

(d) RTVX 
 

Q13. BEHK : YVSP : : DGJM : ? 
(a) JGDA  

(b) ROLI 

(c) WTQN  
(d) ZWTQ 

 
Q14. 392 : 28 : : 722 : ? 

(a) 18  
(b) 28 

(c) 38  
(d) 48 

 
Q15. 123 : 36 : : 221 : ? 

(a) 52  
(b) 69 

(c) 72  

(d) 25 
 

Q16. In the following questions, number of letters is skipped in between by a particular rule. 
Which of the following series observes the rule? 

निम्ननिनित प्रश्नों में, एक निनित नियम के द्वारा िणों के बीच की सखं्या को हटा दिया गया है| निम्ननिनित में स ेकौि सा समहू 

इस नियम का पािि करता है? 

(a) BAFHTU  
(b) ACEGJL 

(c) ACFJOU  
(d) ADFHJL 

 

Q17. From the given alternatives select the word which cannot be formed using the letters of the 

given word. 
LAUGHTER 

निम्ननिनित निकल्पों में स ेउस शब्ि का चयि करें जो दिए गए शब्ि के अिरों का प्रयोग करके निर्मवत िहीं दकया जा सकता| 

LAUGHTER 

(a) GATE  

(b) RATE 
(c) HATE  

(d) GRUNT 
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Q18. PROHIBITION is coded as 68032124205. How will you code INHIBITION ? 

PROHIBITION को 68032124205 कोनडकृत दकया जाता ह|ैआप INHIBITION को दकस प्रकार कोनडकृत करेंगे? 

(a) 2531214205  

(b) 2532125205 

(c) 2542124205  

(d) 2532124205 

 

Q19. Two statements are given followed by two conclusions I and II. You have to consider the 

statements to be true even if they seem to be at variance from commonly known facts. You are to 

decide which of the given conclusions, if any, follow from the given statements. Indicate your 

answer. 

Statements :  

Every bottle with a red label contains fruit juice, Fruit juice is safe to drink 

Conclusions : 

I. It is safe to drink the contents of bottles with red label. 

II. It is not safe to drink from bottles with green label. 

निम्ननिनित प्रश्न में िो कथि दिए गए हैं, नजिका अिरसरण िो निष्कर्ों I और II द्वारा दकया गया है| आपको इि तथ्यों को सत्य 

माििा ह,ै भि ेही य ेसिवज्ञात तथ्यों स ेनभन्न प्रतीत हों| आपको निणवय करिा ह ैदक कौि सा निष्कर्व दिए गए कथिों का तकव पणूव 

अिरसरण करता ह|ै उत्तर िें  

कथि :  

िाि िेबि िािी प्रत्येक बोति में फ़ू्रट जूस ह,ै फ़ू्रट जूस पीिा सररनित होता ह|ै 

निष्कर्व : 

I. िाि िेबि िािी बोतिों में रिे पिाथव को पीिा सररनित ह।ै 

II. ग्रीि िेबि िािी बोतिों में रिे पिाथव को पीिा सररनित िहीं ह ै

(a) Only I follows/ केिि I अिरसरण करता ह ै 

(b) Only II follows/ केिि II अिरसरण करता ह ै 

(c) Neither I nor II follows/ ि I और ि II अिरसरण करता ह ै 

(d) Both I and II follow/ I और II िोिों अिरसरण करता ह ै

 

Q20. Some equations are solved on the basis of a certain system. On the same basis, find out the 

correct answer for the unsolved equation. 

करछ प्रश्नों को एक निनित आधार पर हि दकया गया है| इसी आधार पर अिरत्तररत 

प्रश्न का उनचत हि ज्ञात करें| 

3 × 1 × 5 = 2715 

4 × 3 × 1 = 6491 

2 × 6 × 7 = ? 

(a) 8367  

(b) 13649 

(c) 1867  

(d) 8649 
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Directions (21-22): In each of the following questions, select the related letters/word/numbers 
from the given alternatives. 

निम्ननिनित प्रत्यके प्रश्न में, दिए गए निकल्पों में स ेसम्बनंधत अिर/शब्ि/सख्या का चयि करें 

 

Q21. PNLJ : IGEC : : VTRP : ? 
(a) OMKI  

(b) RSTU 
(c) QSRC  

(d) RPOM 
 

Q22. Writer : Pen : : ? 

ििेक: किम : : ?  

(a) Needle : Tailor/ सरई : िजी  

(b) Painter : Brush/ पेंटर : ब्रश 

(c) Artist : Canvas/ किाकार : कैन्िस  

(d) Teacher : Class/ नशिक: किा 

 
Q23. Which one of the given responses would be a meaningful descending order of the following? 

निम्ननिनित निकल्पों में स ेकौि सा निकल्प अिरोही क्रम में अथविाि होगा? 

1. Major  

2. Captain 
3. Colonel  

4. Brigadier  

5. Lt. General 

(a) 3, 4, 2, 5, 1  

(b) 5, 1, 4, 2, 3 
(c) 4, 5, 1, 3, 2  

(d) 5, 4, 3, 1, 2 
 

Directions (24-25): In each of the following questions a series is given, with one/two term(s) 
missing. Choose the correct alternative from the given ones that will complete the series. 

निम्ननिित प्रत्यके प्रश्न में एक श्ृिंिा िी गई है, नजसमें एक/िो पि िरप्त ह/ैहैं| दिए गए निकल्पों में स ेिह निकल्प चरिें जो श्ृिंिा 

को परूा करत ेहैं|  

 
Q24. 9, 8, 10, 16, 11, ?, 12, 64 

(a) 28  

(b) 36 

(c) 25  

(d) 32 
 

Q25. 34, 18, 10, ? 
(a) 8  

(b) 5 
(c) 7  

(d) 6 
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Q26. Rahul and Robin are brothers. Pramod is Robin’s father. Sheela is Pramod’s sister. Prema is 
Pramod’s niece. Shubha is Sheela’s granddaughter. How is Rahul related to Shubha?  
राहुि और रोनबि भाई हैं| प्रमोि, रोनबि के नपता हैं| शीिा, प्रमोि की बहि ह|ै प्रमेा, प्रमोि की भाजंी/भतीजी है| शरभा, शीिा 

की ग्रैंडडॉटर ह|ै राहुि, शरभा स ेदकस प्रकार सम्बनंधत ह?ै 

(a) Brother/ भाई  

(b) Cousin/ कनजि 

(c) Uncle / अंकि  

(d) Nephew/ भतीजा/भांजा 
 
Q27. Find out the set of numbers amongst the four sets of numbers given in the alternatives which 
is most like the set given in the question. 
Given set : (8, 56, 72) 
निम्ननिनित चार सखं्याओं के समहू में स ेउस सखं्या के समहू का चयि करें जो प्रश्न में दिए गए समहू स ेसरसबंद्ध है| 

दिया गया समहू : (8, 56, 72) 
(a) (7, 56, 63)  
(b) (3, 15, 24) 
(c) (6, 42, 54)  
(d) (5, 30, 35) 
 
Q28. F has less money than H but more than G. E has more than F but less than H. Who is the 
poorest? 
F के पास H स ेकम िदेकि G स ेअनधक पसै ेहैं, E के पास F स ेअनधक िदेकि H स ेकम पसै ेहै| सबस ेगरीब कौि ह?ै  
(a) F  
(b) E 
(c) H  
(d) G 
 
Q29. Some equations are solved on the basis of a certain system. On the same basis, find out the 
correct answer for the unsolved equation. 
6–9–2 = 926, 3–2–1 = 213, 0–4–8 = ? 
करछ प्रश्न एक निनित आधार पर हि दकए गए हैं| उसी आधार का अिरसरण करत ेहुए, अिरत्तररत प्रश्न को हि करें| 
6–9–2 = 926, 3–2–1 = 213, 0–4–8 = ? 
(a) 840  
(b) 480 
(c) 84  
(d) 48 
 
Q30. Which one of the following diagrams best depicts the 
relationship among Honey-bee, Insects and Housefly? 
निम्ननिनित आरेिों में स े कौि सा आरेि शहि-मधरमक्िी, कीट और मक्िी के 

बीच सबंधं की व्याख्या उनचत रूप स ेकरता है? 

 
(a) a 
(b) b 
(c) c 
(d) d 
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